Trig 7.1

Identify and use trig identities
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Callback to geometry: All you need is one exception...

o Prove tha sin X cos x = tan .nﬁis not a trigonometric identity by producing a
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Definitions: Start parking lot

The following trigonometric identities hold for all values of # where each
expression is defined.
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The following trigonometric identities hold for all values of # where each

expression is defined-
S'nH=tanH CPSH=cotB
cos # sin #
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Memorize (unit circle)

Putt The following trigonometric identities hold for all values of # where each
yiagorean expression is defined.
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Might be reciprocals

Might need reference triangle
o Use the given information to find the trigonometric value.
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SFVEéé-Q (Compare to Quadrant 1 reference angle

Uses same reference angle:

= S n quI—_ STI‘ is the sign same or opposite?
= f t ¢

L | —
SNV
¥ t 9




c. cos (-410°) = (oS 210
qpy _ €PSG5Y

W

L3O



tan% :”‘11?[ ”'D = —-l-—nfv\gb
"—rpv\ ?-D :—-L-u.h:lg

%{L




Same reference trianglés but in
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What quadrant?
Sides of reference triangle
Answer the question

Use the given information to determine the exact trigonometric value.

8.cosﬂ=%,0°<ﬂ<:90°;secﬂ 9.cotﬂ=—%.3<ﬂ<w;tana



Express each value as a trigonometric function of an angle in Quadrant I. . y
same sign or opposite?

12. cos 13. csc (—330°)



Tryto getto a single trig function: what can you substitute?
(parking lot)

Simplify each expression.

csc
14. cot ¢




Rules of algebra apply:
you can factor

o Simplify sin x + sin x cot® x. combine like terms

N you can substitute...

(parking lot)



15. cos x cscx tan x



16. cos x cot x + sinx



